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ANÁLISE DAS PERCEPÇÕES E CONSEQÜÊNCIAS NA RELAÇÃO
ENTRE OS PAIS E PORTADORES DE SÍNDROME DE DOWN
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LAZER
Nº DE

RESPOSTAS
FREQÜÊNCIA

RELATIVA

Não tem 5 50%

Casa de amigos 3 30%

Festas 3 30%

Bola 1 10%

Bicicleta 1 10%

Pesca 1 10%

Dança 1 10%

Parque 1 10%

�������[�����!����
��
����
������6���
�������
O��

%	������3
������
��
��3�	���	�)����
����=3�����	$����������5-
�������0	�)

�
�3��6
�
�������$	��!T��3������	��
�[AA^��������	$���������	����
�������	$
�
�������5-
�Q���	��5���3:��
�����	����
�

"
�
�3
���
���
������������8.��%.�'[\\F(G

R7���$�!�,����=	�����������3��!����
������,����
���
�
$
����9����	
������>���������-
�����������3������,��>
,����
�������9��������
������
�0
��
>��
��
����0	�	9��
�	�>� �� 0��6�	�� �=3��	������ ����	����
���	06��	��� �
��� ���
,���)�K��$���
�)�>����3�>����
>�3���>���	$�>���$
���>����
�
�
���
�S��'3G�F@(�

���>��
�������	
���
�)��	����
������	��5������	
�������
��� 	�0
����
5I��>����$��	��
���
�
�>� 	��
� ���������
�T�HA^��
��3�	�� ����������,��������
����	����
�������	$
�����������
��
�3�������
����3
���0
���������	��6�
�
3
������	����
���
�
����	�)
�����
��

���0
��������	�0
���5-
�,���
��3�	����	�	!�����3���������	
���
�)��	����
�
��
�������6���
�������
O��0
���G����	�
>����
������3��	��	!����>�8�������>
��	����>�����5-
��
��
���
��3�	����
���
��3�
0	��	
��	��

N��������3
������
��
��3�	������������,���
����	�
�
��	�0
��
��,������
0	�)
� �	�)���6���
�������
O�
�����������	��� 	��
�3����� �� �������	$�>� ���
,����
�@A^�����	����	��	0����5��3
��3������
����	�
���
���
��@A^>�3��
��3��
5-
>�
�,���3
�������	�0�����	��
�����������	��5-
��
�0	�)
�3
��3������
��3�	��
"
�
�3
�������$	��
�����8.��%.�'[\\F(G

R�7�������
���������-�>�,�����3�
��!
��,�	��
�������
�	!�5-

����>������	�
����=3��	9��	�������������G�RN����
�����0����	��
����	����,�������	�)���	�
�����0	�)�>�����$��������������$
���
*����-
��	����R�
�9���������0	�)����
��$���S�*������������
���
��	��5����	�
���3	���������%����	�
���������-
�,�	��0	���
��	�
����3
��
�	�
��N����
��������	�
������
�)��
��
��
��
�
����9�3����3�	��	���$�!>���)
�,���0
	��
�����
��
�
���3	�

�������
��
��,�������0����	����	�)���
��
�)��
��.-
�3
��
���
3���
�����
����L��������	����-
���
��$���S�'3G�FF(S�



��

�
�
�
�
�
�
�

� � � � � � �� �� � � � � � � � ����	����
���
����	����������

%���
���3���
�3��
��3�����0
	���3�����5�>�������3��,�	��>���������-��,��
�:�0	�
��������
�,�������0	�)
��3�������$���6���
�������
O��,����
�
�����

�	�)��,����
���
���.
�)
�3	�������,���
����	�
������������
����	�
������
��0����	������������
�6�	��������0
	����
����
�)
�3	����3������
�,�������0	�)

�-
��	�)��,���,�����	3
������0	�	9��	�>�
�,�����	
��������
���	�
����	
>�3
	�
�������	��5����	=
�������������
����	���
��3���
������������	
��3����������
�)
�� �����$
�$	����
�� �L� 	�3
������� ���	������ ,��� 
����$
�	��
�
�� 
� 3
��

�
�)��	����
� ������� 3�
0	��	
��	�� �
���� ���6���
�������
O�>��-
� K���	0	��
�����0��)����������

�.
����
��
��	��-
�>�3����������
�
��	�
������
�����	��5-
>��
������	����
�
�������	�)
����CA^��
�����
��

"
�
��
�0	�����8.��%.�'[\\F(G

9���
���
�
�	���
�%�
������	���
�	
����	
$	��
+��
�%�
�����
��	���	�
����
����	
	
���	
���
���
�
+����
	$��	�
����	�
�	�-��	�
	
�����������
��
�����
������
'3G�BD(�

���	���	�	��5-
>� ����
�3
��3�������� 0��6�	��,����
�3
��3����������	�
�>

�
���������3�����FA^��
�����
�>�
�,���3
���������
����	�
���$	�
��
�0��
���
���	�0
���5I����
������*-������
��
��;�>����	�������>�����������	��3������
��������
��
��
�	�	��
>����3�
3�������>��
$����������3��)����������$	�-
�

�
�,���
�3���
���	�
��������	�����
�,��������
����0��������	�0
���5-
>��-

,����������K�� �������
��,�	�������,���3
����
��������6���
�������
O���-

�	0������������3���
����
��	��������R�
���	�S>�3
�,������������	��
>�������>
������	3
����3���
���	�
>�3
	���������������	����	���
�
����	���
����������	
�
3����������)
�������$
�$	����
����������)
�����3��5-
���������0����
����
�
�	�������*����
����������
�3����
�0��
����,��>���3���	���
��
����
����,��
���3���
�������K�����	��	�0
������������3�	�
�����6���
�������
O�>������0	�
�����	���������������
��	5-
��
��3
����
��������������3
��	�	�	���������������
$
�$	����
���6>�����	
��3����������	���	�	��5I����������

.����
������,���	�����
����3��������3��,�	��>�
�0��
��)����	���	
�3�����
�-
������	�
���	���	�0��9��	�>�3
	��0
	����	���������3�����5��������
���
�3
����
�
�����0��6�	�>�����3�����[A^��
�����
��

CONCLUSÕES

����&
	�3
��6$����
����	��,���
��3�	��,������	��������
�0	�)
>��3������������
�	�	��5I���,���
���
������	0��������������	��5����
��	��������R�
���	�S>������
�	���K�����������	����5-
��
�	�����3���
��>��
���,P���������>�3�
3
��	
���
����������	��5���������)
�������$
�$	����
�06�	�
>��
�
����3�	�
��
�	����"
��
�
�
����
�	��
�"���8�+%�'@AAF(��	!G

R�����	��5-
��
��5��3��
�����K
����,���
� 0	�)
��)������
�=	��	�T� ����	�� ,��� �9����� 0	�)
� 3
�� 0��)�� �
�����
�
�
�
������3�	$
�>� �	0	�	������� �
�����	�-
� ��	��� ����� ��	��
���,����
�
�
�0	�)
�,���$����
�����
��������������K��
>
��	���������
>�3��
�������3�	��������	��5-
�	�3�	��>�����
���>���������K������
���
��
>��-
��
�
����
�,�������3��
�)����
����	���
�����,��������0	�)
�������	����%��3�	�����
$�����������������������5-
���������������0���
����
�
���������
��0	�)
����0�!9��
��$���,����
�
��������-
�R	��
3
�������S����$	������0��6�	���"
�3�
$
�����,�������	��5�
���	���3��
��3�	���>�����������>�l�

3����	$�>��
�	�$��>���	�
��$��>�����>���
�	
�������������$������	�3��	��UT���,���l���
�������$	����
���
�0	��5�US�



�	

�
�
�
�
�
�
�

� � � � � � �� �� � � � � � � � ����	����
���
����	����������

�*�������	��5-
����K����������$����
������
���	�0
���5I����
�������6���
��
����
O��,��� 0�!����	�	��	�� �� ��K�	5-
� �� 
� 3���
���	�
>� 3
�� 3����� �
�� 3�	�>
3������������	�
������	�������
�������	
������
��
�3
����
�����*-������
�
�����������
����
��
�����
��
�����
�

%����������
��������3��,�	����-
�����$�������
�����	�
����3
����	�0
����

��3�	�����3
����
��������6���
�������
O�>��
����
������	
������
��
��
����
0	�)
��� ������������������$��	�����������	����5-
����$	�����������	��5���L
����$����� ������>�3���� R���	�� 
��
�)
���
�����	�
�S� �� 0�!9��
�� ��0���	�� �
���
,���������)
��0
�������	�0
�����
��3�	��,���$��)������������0	�)
�3
����
����
�6���
�������
O�>�3
	��������
�6�	�>������	
�	���
�����
�>�������)
,�����	�

�������3�����������3
���	�0�����	�����	�
��
����������
�,����������$��-
��	��
3������������0	�)
�

����������>����-
>������9��	�����������	�������������5�������	���������

����
����� ������5-
�������	�	��� ��*�0�������>�����$�!�,�����	���� $�!��
,����������
�6�	����
'�(���0����	�
'�(>��
�����	�
�������������������
���2�

�-
�	�3
��������
�
�������
�����6���
��
��0����
������	�
������0����	�
���%
,���3
��������
��
�
���
�3
���8.��%.�'[\\F(G

9���
+��
���	�
	�
�����	�
��
/������	
�
������	���
������
)	�
�����	�����
��
����
�	�
���	�
���-��	�
	��
�	��
�
����
�=3�	���
�
��	��8�����
���
	
�	���
��	��<	
����-����
��
�	��
������%�
	
���
���
���+��
	����	����
=�0>>?�

"
�
�K�������	�
�,��������5����������	3
��-
���
�����������
��
�3�6�
����
	���3����
��	�>����-
�$��
��3�
3
�������
�	0	��5-
���	��	���	���>�������
	����� 	�3
��M��	�G���3�����5��������3�	�:�
�
�
��������3�
0	��	
������3��	�
��	!��
��
��)
�3	��	��3�����K�����
�����	�
����������	�0
���5-
�3����
��3�	�>���
0
������	������	��������	�0��:�	��

%��3�
0	��	
��	�������	�
�
�	��3
�����K������
�����	�
�����=3�	�	����������
���������3
����	��	�������� �	�	��5I�����,����� ��	��5�>� 	��	����
�
�� �=����
��������	
����
�����$	5
��,�������	���������	�����
�����	��3����������)
�����
���$
�$	����
�

����� �	��
>� ��� 0
�� ��� 	��������� �
�� 3�	�>� ��$����� 	��	���� 	���	��	5I��
��3��	��	!����>�
��������������$	5
���-
�
0����	�
��3���������0��6�	������
��	�������� �� ������� �-
� �	�3
�	�	�	!����� ��	�� 	�0
���5I��� �
���� �
�6���
�������
O�>�	�����	$��3���	��
����
���
��3�	����K
���0	�)
��0��,P���
������	��	���	��	5I���

%�3�	�:�
�
���$�����3�������
���	��	�������������������
����	�0
���5I����
������3�
��
�3�������3
�����Q���2$	�����
��3�	���
����
�R�����S��
�����0	�)
>
�	�	�	!���
����	������K�	5-
���
��)
,�����,����-
��=3
��
���
����	���3�����
�
�6�	��

REFERÊNCIAS
"���8�+%>�
�����
������	�
�	
#	�-��	�
�
@�����A���	
�	�
��������
���
�	�����	��
3
�6$��� ��� Gm)��3G]]OOO�3
������0��	�	��
��]���	�
�]���	�
ADC��)���n�������
�
����E������
��
����@AA@�

8�*"*��1���
��������
	
������&���	
/���	����
���	��G�@AA@�

�8.8��L�8%������W�*��@�����	)6��
�����
	
*-������
��
��;��
������	�	�
	
����������	��
��
:���	���
��
*	3���
 ���6�	�,�@AA@�

�7*�"+*>��	��0�	����*-������
��
��;�
���	
�	�	
�	��
�
����	�������"��3	�
���G���3	���>�[\\F�



�


�
�
�
�
�
�
�

� � � � � � �� �� � � � � � � � ����	����
���
����	����������

�8%��*�#�.*8�%��*�3�5
�``8�J�7����
��
�	��
��
���	�)	�
��;�
	������
���	)�
��
������
BB@>�[\\H���	�3
�6$�����G�m)��3G]]OOO���
0�
�����]3�
K��
�]�
O�n�
�����
����[?������
��
����@AA@�

�8%��*�#�.*8�%��*�����	��
*-������
��
��;�,�[\\H���	�3
�6$�����G�m)��3G]]
OOO�������������
����]���	�
�3)3XF\Fn��������
����@������
��
����@AA@�

�8%�
��.�*��%��7���*-������
��
��;��
.�������	
��
1���������
CD>�@AA[�
�	�3
�6$�����G�m)��3G]]OOO�������������
����]���	�
�3)3XF\Fn��������
���
@������
��
����@AA@�

�Z%���7�%��*-������
��
��;�0
�	�	����-����	�
�
��������	�� ����>�[\\H���	�3
�
�6$��� ��G� m)��3G]]OOO��3���
��������]�AE]�
����]�
O�]�
O��)��n�������
�
����[������
��
����@AA@�

�"+7��*>���T��o���>����/	��	�
��
���+��	���	���-
�����
G�*�	�
��������:�	����
7�	$���	���	�������

�8.��%.>������	���1������������
���
�����
�������������	
����#���	�
G�*�	�
��
8���
>�[\\F�


